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Batimating the Mean from & Grouped Freauency Distiibution

“Thus, when recording the ages of people., the resuts soud 1o

The grouped frequency distri
achicved by 50 students in a test.
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While it is ot possidle (0 find the exact mean of a grouped frequcney disibuion,
we can find an estimate of the mean by taking the mid-terval vaue of s i
“The mid-interval valuc i the (1-5) class s found by adding 1 and 5 and dividing
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tion table below shows the marks (owt o 25)
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Similarly, the mi
The table given above is reproduced again with the mid-interval values written in
smaller print over each class intcrval.
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